RH

STACKED RECTANGULAR DINING TABLE INSTRUCTIONS

Thank you for choosing this quality product. Be sure to check all packaging materials carefully for small parts that may
have become loose during shipment and place all parts on a non-abrasive surface.

WARNING: These table parts can be cumbersome and heavy; the assistance of two or more people is recommended
in order to prevent personal injury and ensure the table parts are not damaged during the assembly process.

HARDWARE INCLUDED
PARTS INCLUDED

A [1] TABLETOP NO. | ITEM DESCRIPTION QTY
B. [1] TABLE BASE 1 ” Allen bolt 1/4"@ x1" 6PCS
C. [3] FLAT BAR 2 o Lock Washer 12PCS
3 Plain Washer 12PCS
4 o~ Allen Wrench 1PC
5 ~ Allen bolt 1/4"@ x 1-1/4" | 6PCS
ASSEMBLY INSTRUCTIONS

FIGURE 01
1. Place table base upright in the location where you —

wish the table to be in when fully assembled.

2. Ontop of the base are holes with insert nuts pre-
installed that correspond to the holes on the flat
bars. Install the flat bars on top of the base and
secure with Allen head bolts together with plain
washers and lock washers provided. Tighten all the
bolts with Allen wrench to a snug fit. Please see
FIGURE O1.

Allen Bolt 1/4"® x 1-1/4"
Note:

Underneath the tabletop are cavities and holes with
insert nuts pre-installed that correspond to the

holes on the flat bar installed on the base. a Y
3. Gently turn the table base and tabletop upside
down and set the installed flat bars into the cavity
- ,/

underneath the tabletop. Once the base is set,
engage Allen head bolt together with plain

. : 2
washers and lock washers provided as shown in 3§
1

FIGURE 02

FIGURE 02,
4. Tighten all the bolts to a snug fit.

Allen Bolt 1/4"@ x 1"
CARE INSTRUCTIONS

e Dust often using a clean, soft, dry lint-free cloth.

e Blot spillsimmediately, and wipe with a clean, damp cloth.

e \We do not recommend the use of chemical cleansers, abrasives
or furniture polish on our lacquered finish.

Thank you for your purchase
www.restorationhardware.com

107118





